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5,11*10ﬁ44>9664>84>1*>24>3?7>7>>02,06

A knot diagranﬂ Clop €4 C €5 Cg C11 €1 C3
Ideals for irreducible component#ﬂ)f Xpar

I = (w® — w4 —2u—1)

* 1 irreducible components of dim¢ = 0, with total 35 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u —udt+... —2u—1)

(i) Arc colorings

ag =

ud —3ul +ut+2u%+1
—ud + 4ub — 4u*

—u2°+9u18+~-+u2+1)

ayp =
a2 = \y?? —10u?0 + - + 2u* + 2

—ut® + 8ul” — 24415 + 3063 — Tull — 10u® — 447 + 6ud + 3ud + 2u
w'? — 907 + 32015 — 55018 4 4301t — 9u? — 4ud —ud +u

wtr—15u32 4o — w241 )

(
(
(
(
ae = (u73u5+2u3+u
(
(
(
(
(

ar = \ —u3* +16u? + -+ — 2u* — 3u?
w3t —15u32 + - —u? 41
ar = \ —u* +16u®? + - — 2u* — 3u?
(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4uB3 +64u3" — 452020 — 4u?8 +1840u27 452120 —4728u?° — 292024 + 790413 + 916122 —
8628u2! — 1732120 +6320u'? +1988u'8 — 380417 — 136016 + 2528115 + 63614 —1276u '3 —
364u'? 42760 + 14440 — 180u® + 64u® +96u” — 24u’ +36u°® — 8ut +24ud —20u® —4u—14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,Cq u35_U34+-~-—2u_1
C7
“ u? — 110 - 4 4ddu — 113
C4, €9, C10 P —ut e —2u—1
“ uP 4 3uPt 4 Bdu+ 9
€8, C11 ud L 5utt e du—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C2, Cp P — 41y 6y —1
Ccr
Cs y35 o 17y34 + -4+ 162106y — 12769
C4, €9, C10 Y =33y -+ 6y — 1
s y35 _ 13y34 4+ 36181] — 81
s, C11 y* 431y 4 4298y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u= 1.09220

—7.72425

—11.4230

u = —0.416127 + 0.6872661

—11.53560 + 7.430081

—13.0479 — 5.86681

u = —0.416127 — 0.6872661

—11.53560 — 7.430081

—13.0479 + 5.86681

u = —0.525382 4 0.5925201

—11.96020 — 3.162107

—14.1562 — 0.19931

u = —0.525382 — 0.5925201

—11.96020 4 3.162107

—14.1562 + 0.19931

u = 0.404028 + 0.6546011

—3.38071 — 5.285181

—11.19312 4 7.666391

u = 0.404028 — 0.6546011

—3.38071 + 5.285181

—11.19312 — 7.666391

u = —1.245760 + 0.1129911

—2.03937 + 0.975181

—7.22361 + 0.377611

u = —1.245760 — 0.11299171

—2.03937 — 0.975181

—7.22361 — 0.377611

u = 0.478538 4 0.5697631

—3.71886 + 1.253911

—12.53849 — 1.040951

u= 0.478538 — 0.5697631

—3.71886 — 1.253911

—12.53849 + 1.040951

u = —0.401418 4 0.5950641

—1.30259 + 1.881181

—7.16532 — 3.482341

u = —0.401418 — 0.5950641

—1.30259 — 1.881181

—7.16532 + 3.482341

u = 1.284920 4 0.1769151

—2.74426 — 4.131511

—10.06219 + 7.591881

u = 1.284920 — 0.1769151

—2.74426 + 4.131511

—10.06219 — 7.591881

u = —1.313190 + 0.2256181

—9.81072 + 5.983331

—13.3282 — 5.53511

u = —1.313190 — 0.2256181

—9.81072 — 5.983331

—13.3282 4 5.53511

u = 0.140885 4 0.6366421

—5.27877 — 2.854351

—7.73114 + 4.219901

u = 0.140885 — 0.6366421

—5.27877 + 2.854351

—7.73114 — 4.219901

u = 0.650180 —7.56446 —13.6890
u= 1.35428 —5.67856 —17.2470
u = —1.42496 —13.8091 —17.9870

u = —0.062444 4 0.5647571

1.40484 + 1.428141

—2.59292 — 5.836051

u = —0.062444 — 0.5647571

1.40484 — 1.428141

—2.59292 + 5.836051

u= 145233 + 0.224681 —7.26272 — 4.906381 —11.00863 + 2.945141
uw= 145233 — 0.224681 —7.26272 4 4.906381 —11.00863 — 2.945141
u = —1.46000 + 0.242901 —9.38489 + 8.568871 —14.7051 — 7.19151
u = —1.46000 — 0.242901 —9.38489 — 8.568871 —14.7051 + 7.19151
u = —1.46668 + 0.203591 —9.96671 4 1.568781 | —15.9909 + 0.1

u = —1.46668 — 0.203591 —9.96671 — 1.568781 | —15.9909 + 0.1




Solutions to I} V—1(vol + /=1CS) Cusp shape
u= 146917+ 0.253601 —17.6166 — 10.86551 —16.5622 4 5.67891
u= 1.46917 — 0.253601 —17.6166 + 10.86551 —16.5622 — 5.67891
uw= 1.48595+ 0.197141 —18.4666 4 0.31551 | —17.6053 + 0.1
u= 1.48595 —0.197141 —18.4666 — 0.31551 | —17.6053 + 0.1
u = —0.321346 —0.640564 —15.8310




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C2,Cgq u35—u34+---—2u—1
Cr
cs u® — 11w + -+ 444y — 113
€4, €9, C10 u® =t = 2u—1
Cs u® 4+ 303t + - 4 B5du 4+ 9
Cg,C11 U35+5U34+"'+4U*1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C2,Cq y35—41y34+~--+6y—1
Cr
c3 y? — 17y** + - 4+ 162106y — 12769
€4, Cy, C10 y?? = 33y% 4 6y — 1
Cs y?® —13y3* + .- + 3618y — 81
€8, C11 ¥ +31y° + -+ 298y — 1




